Apartment in Santa Venera



Santa Venera, Central



€325,000

Reference No: 240251133-10

Total Rooms: 5

Floor Area (m²) : 86

Bathrooms: 1

Bedrooms: 2

Apartment - For Sale - Santa Venera

Santa Venera - This partly furnished first floor apartment features a squarish layout, making the most of its space. Upon entry, you are greeted by a beautifully maintained kitchen and living area that flows seamlessly onto a lovely balcony that complements this area. The apartment includes two generously sized double bedrooms along two small corridors, on one corridor is a nicely finished main bathroom and on the other corridor a small utility room/ laundry room.

Features

Rooms

- Kitchen/Living/Dining : 5.55 x 4.56 m (25.31 m2)
- Double Bedroom : 4.31 x 3.55 m (15.3 m2)
- Double Bedroom : 4.31 x 3.55 m (15.3 m2)
- Laundry : 0.94 x 2.26 m (2.12 m2)
- Hallway : 1 x 4.42 m (4.42 m2)
- Hallway : 1 x 4.42 m (4.42 m2)
- Bathroom : 2.7 x 1.28 m (3.46 m2)
- Open Space : 4.5 x 2.55 m (11.47 m2)

Gallery



















Kevin Barbara RE/MAX Advantage - Msida

M: 79424419 E: kbarbara@remax.com.mt T: 21222123

RE/MAX Advantage - Msida Regional Business Centre, Triq Achille Ferris, Msida, Malta